EXAM DURATION : 01:00 Hrs
TOTAL MARKS : 200 TOTAL NO OF QUESTIONS : 100

QID : 1 - In the following question, select the related word pair from the given alternatives.
Power: Watt::7:?
fr=fofas ww 8 Ry 7 et § @ w4dfia aee g & ghg)

FAtcae::?:?

Options:

1) Pressure : Newton
ofdl ;e

2) Force : Pascal

T UTERe

3% Resistance : Mho
|

4) Work : Joule
& : S
Correct Answer: Work : Joule

& e

QID : 2 - In the following question, select the related letters from the given alternatives.
NPBG:0QCH:: AJOT:?

Fr=fefae w7 Ry my et A @ w46 sart wrgfo)

NPBG:0QCH:: AJOT:?

Options:

1) BKPU

2) BUPK

3) BHKP

4) HBKU
Correct Answer: BKPU

QID : 3 - In the following question, select the related number from the given alternatives.
101:10201::107:7

Fr=fefad us & Ry mu Reet 7 € dd4fte dem =t g

101:10201::107:?

Options:
1) 10707

2) 10749
3) 11449

4) 11407
Correct Answer: 11449

QID : 4 - In the following question, select the odd word from the given alternatives.

Pt v § Ry 7y et 4 @ G e & g

Options:
1) Lion

2) Leopard
dgam

3) Snake
Hig

4) Tiger
g



Correct Answer: Snake
g

QID : 5- In the following question, select the odd letters from the given alternatives.

Fr=feied uw # Ry 7o we A & R st St gfo)

Options:
1) NPR

2) TVW
3) FHJ

4) KMO
Correct Answer: TVW

QID : 6 - In the following question, select the odd number from the given alternatives.

fpfaf@e v R mg faeedt § & R when 5t gffg)

Options:
1) 69

2) 59
3) 61

4) 53
Correct Answer: 69

QID : 7 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Ropped

2. Roster

3. Roasted

4. Road

5. Roller

fPrferiae el @l eriar F oF o we & FgeR @)

1. Ropped
2. Roster
3. Roasted
4. Road

5. Roller

Options:
1) 35412
2) 45312
3) 34512

4) 43512
Correct Answer: 43512

QID : 8 - A series s given with one term missing. Select the correct alternative from the given ones that will complete the series.
BCF, CDG, DEH, ?

Teh Sgene e a8, e & g ug g 81 Ry g Renedt A § a7 wdl Revew 9fg, St e @l g ad

BCF, CDG, DEH, ?

Options:

1) EFI

2) EFG

3) DFI

4) EGI
Correct Answer: EFI

QID : 9 - In the following guestion, select the missing number from the given series.
2,5,12,27,?
e v & fog g feredt A & g sfe 79 Fifmg)

2,5,12,27,?



Options:
1) 53

2) 56
3) 57

4) 58
Correct Answer: 58

QID : 10-If 'P 3 Q' means 'P is daughter of Q','P 5 Q' means 'P is father of Q','P 7 Q' means 'P is mother of Q' and 'P 9 Q' means 'P is sister of Q' then how is J related
toKindJ3L9N3I0O5K?

ok PIQ@mafPQR G P5QawaiPQEmfmd, P7Q@mafRQfiamd anrPOQw af PQfasad, J3LIN3 05K, J, K g wanr wiafia #2

Options:
1) Mother
HTAT

2) Wife
L]

3) Niece
it

4) Daughter
o

Correct Answer: Niece
it

QID : 11 - Rakhi got engaged 10 years ago. Rakhi's present age is 5/3 of her age at the time of engagement. If the present age of Rakhi's mother is twice that of
present age of Rakhi, then what was her mother's age (in years) at the time of her engagement?

Tt Y @ 10 e uge g o) It Rt ad s gt @ & aw Y g ot 5/3 81 af wrd) Y w5 Y s eng saeh) adam aimg Y SR €, ot ot Y e & e awh at
it g (2l ) e o7

Options:

1) 50

2) 40

3) 30

4) 60

Correct Answer: 40

QID : 12 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
Suspensefulness

g o uy F, Frefafes et A o a5 a= 9fig &t Gy 7y o= & s1ewi o vt s et S o T )

Suspensefulness
Options:

1) Sense

2) Fuels

3) Useful

4) Fullness
Correct Answer: Fullness

QID : 13 - In a certain code language, "BAD" is written as "7" and "SAP" is written as "9". How is "BAN" written in that code language?

e e wie s , "BAD" &1 7" foran S & qu7 "SAP" @i 9" o W §1 5% &his wr i "BAN' it o wep ferat wimgmn?

Options:
1)8

2)3
3)4

4)6
Correct Answer: 8

QID : 14 - In the following question, correct the equation by interchanging two signs.
9x3+8+4-7=28
Frefeiea me &, B & nforfa w@fkared &) oy & weeR ageee Ry 7y wfiem & adl fifea)

9x3+8+4-7=28



Options:
1) xand -
X dyr -
2)+and -
+JuT -
3)+and +
= aul+

4) xand +
X dur+

Correct Answer: x and +
X daYr +

QID:15-1f4*5%3=8000and2*3 % 2 =36, then
4*3%3=?
A 4%5%3=80007uT2%3%2 =368,

4*3%3=7

Options:

1) 432

2)1728

3) 36

4) 144

Correct Answer: 1728

QID:16-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

A oy d Ru or Reeat & & uy Resw
(?) & TUE W A arelt w4 I g

3 4 2
(2131 1] [2]145]6] [1]2 7]
5 3 5
Options:
1)43
2) 49
3) 59
4H7

Correct Answer: 71

QID:17-
How many triangles are there in the given figure?

& o2 gl # fraa Mg &2




Options:
1) 20

2)22
3)28

4) 32
Correct Answer: 22

QID : 18 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem
to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

|. Some pens are pencils.
II. All pencils are erasers.

Conclusions:

|. Some pens are erasers,
II. No pens are erasers.
IIl. Some erasers are pencils.

H2 g Mo v vy H §0 FuE 3R 9% T1E 9 FYE] OF SnTRE oo e g g &, wenifes s aneg we @t @ e 8 aedt &1 3t e o2 ofk i P =R R
MY i & e g 71q el o onuR ox gierETa 8

YA

| T eem Ufde &1
1. o dft= TR B

foreepe:

|. e o™ TR &

I1. 2hTS Fhere Za TET €1

111, s ¥ O g

Options:

1) Only conclusion (II) follows.

haret e (1) @8t 81
2) Only conclusion (1) and (1) follow.
haret Fread (1) g Brseed (1) w8 &1
3) Only conclusion (1) and (IIl) follow.
Faer e (1) 7T Fremd (1) T8 &)
;%éNo conclusion follows.

off e gl 7t 21

Correct Answer: Only conclusion (1) and (1Il) follow.

et Pread (1) e Fresed (1) Tt )

QiD:19-

Three positions of a cube are shown below. What
will come opposite to face containing ‘I'?

@ v g fr i arunT R T ¥ A
3% % Roda $od W Sl 7@ AFT HF

HTIA?
~ < ~ V
| IV‘ | \' I Vi
Options:
1)V
2) IV
3
4V

Correct Answer: V|



QID:20-
In the given figure, how many pens are blue?

& ¢ e &, fraa OF @ ¥

Btack f

/‘13\
N

Blue / &ram

Options:
1)23

2)19
3)12

4)15
Correct Answer: 23

Qip:21-
Which answer figure will complete the pattern in the
question figure?

Fla @ s PR wx FEd & ulRAwe & g
HM?

~J

Options:
1)

2)

3)

4




Correct Answer:

QlD:22-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% 3 Hgadl & ¥ 3@ W Hgld & gfaw
orm # oy a3pla BT &

7

Options:

1)
J//

2)

3)

4)

Correct Answer:




QID:23-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & uy Fgad # R@w WgER e @
Hiza Bed dW oA & dIG 9% BE IR AHEA
Star fear$ gam?

R
A X

Options:
1)

2)

D

3)

8

4)

R

(@)

e

Correct Answer:

o\

(@)

—




QID:24-
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IfE U gUUT @ AB {@T W @T ST, ar & TS
IO HPAAl A H Fia B FFa OF Hga &

wer ufafesa grfr?

Options:
1)

2

3

4

<l=E= R

Correct Answer:

P>




QID:25-

A word s represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices  The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 8. A letter from these matrices can
be represented first by s row and next by its column, for example, ‘K’ can
be represented by 01, 34, etc., and ‘P’ can be represented by 65, 99, eic
Similarly, you have to identify the set for the word “BLAND".

U U dad UH AEAT-HAT SR GRAT AT §, ofr 6 Aweul # &
el o & R s ¥ faeeut & B ow dmar-mep sent & ) ant
&I geiv a1w § Star 7 Qe e g weggl A ¥ ey & waen i
dfen i FEm 0 | 4 % 31 anegEn A 53 9) 57 IR & UH IEW A
uedl 3uh Utk 3 aig A Taew wEmr gRr guiar S EEar €1 Sareor
¥ fAw ‘K @ 01, 34, ¥l gr1 gl S d@dar & GW PT A 65, 99,
e err i o wwar §1 W R @ W uw #? Ru g
“BLAND” & faw @y @ upaEan ¥

Matrix-1 Matrix-il

HIig- eIl
0|]1(2]|3|4 5|6|7|8|9
OJA|IK|B|L|C S5|NJ|O[P[S]|D
1[B|A[C|K|L 6|P|D|S|N|O
2|L|C|K|B|A 7|0|P|N|D|S
3|C|B|L|A|K 8|D|S|[O|P|N
4 K|L|A|C|B 9|S|N(D|O|P

Options:
1) 10,14, 00, 68, 79

2) 31,41,33,96, 86
3) 44,20, 42, 88, 59

4) 23,32, 24, 55, 66
Correct Answer: 23, 32, 24, 55, b6

QID : 26 - At which rate, Reserve Bank of India borrows money from commercial banks?

o &% oz, wireeita ford des anfore dent & o 3ur o 87
Options:
?ﬁBank Rate

s

2) Repo Rate
e

3) Reverse Repo Rate
Rew 3t

4) Statutory Liguidity Rate
ifafde aeere

Correct Answer: Reverse Repo Rate
W

QID : 27 - Movement along the supply curve is known as 3

T ek & - Ao @ed 81

Options:
1) Contraction of supply
¥ TigE

2) Expansion of supply

mgfd 7 fawr

3) Increase in supply

T F Ferr

4) Expansion and contraction of supply
\'mgﬁp ¥ o oo e

Correct Answer: Expansion and contraction of supply

Y 7 feram o HgEa

QID : 28 - What is the minimum age required to become vice-president of India?

I o1 ST a9 & g graw oy fBhat gt =g



Options:
1) 30 years
30 ad

2) 35 years
3599
3) 40 years
40 9
4) 37 years
37 a9

Correct Answer: 35 years

35a9

QID : 29 - Which of the following "writ" of the High Court or the Supreme Court is issued to restrain a person from holding a public office which he is not entitled to?

Fr=feiaa & & o &1 "Tiieh ey 3= ATaTed a1 I=ad aTed g el @feh st e STati-ieh hra e O STTERE Shet & el oh forg ST (R Sire g7

Options:
1) Centiorari
I T

2) Mandamus
TRATE
3) Prohibition
e

4) Quo Warranto
B g
Correct Answer: Quo Warranto

SR gesT

QID : 30 - Who was the son of Chandragupta Maurya?

T A & O i

Options:
1) Bindusara

2) Chandragupta Il
T |

3) Ashoka

e

4) Binbsara
(EELI

Correct Answer: Bindusara

QID : 31 - Which dynasty came to power in India after the Tughlaq dynasty?

kel J Tl 981 & a1S I | 497 AEA F 11 27
Options:
1) The Guptas
T &8I
2) The Khiljis
ERl
3) The Mughals
e EeT
4) The Sayyids
e 9
Correct Answer: The Sayyids
T g2

QID : 32 - Which planet is considered as the Dwarf planet?

e e et AT g T e 87

Options:
1) Earth

;;;L%iter

3) Pluto
4) Saturn
B

Correct Answer: Plutg



QID : 33 - Sandstone is which type of rock?

TGHT UewR Y YR ) T2 87
Options:
1) Calcareous Rock
g
2) Igneous Rock
AT g2
3) Metamorphic Rock

e
4) Sedimentary Rock
BCEIC

g
Correct Answer: Sedimentary Rock
ST TG

QID: 34-Wheatisa .

R TF 21
Options:

1) Creeper

EG

2) Herb
3) Shrub
B

4) Tree
&7

Correct Answer: Herb

QID : 35 - Snakes, turtle, lizards and crocodiles falls under which category of animals?

Hia, g ar, el aur aAes siged & feg ooft 7 ama 2
Options:

1) Pisces

Ao

2) Amphibian

Sie-RIeEY

3) Reptilian

4) Aves
qeft

Correct Answer: Reptilian

QID : 36 - Which of the following instrument is used to measure Soil Water Tension?

Hal & Siel a=ra A1 3 forg v 3 s anet ds et e e e 87

Options:
1) Photometer
WeRTarATdt

2) Pyrometer
amHTd

3) Psychrometer
El

4) Tensiometer
Tt

Correct Answer: Tensiometer
ATt

QID : 37 - What is the Sl unit of Force?

e o T HTE HTAH 2?7
Options:

1) Pascal

OrEhel

2) Boyle

e

3) Newton

A
4) Watt
dfe

Correct Answer: Newton

e



QID : 38 - Which one of the following is a bad Thermal Conductor?

Frafefte & & &9 o1 ge g Fen uRares 87
Options:
1) Aluminium

2) Copper
drEr

3& Glass
Lnam

4) Silver
EIC

Correct Answer: Glass
oftam

QID : 39 - Which of the following stores data permanently in a computer?

frfeiaa & 9 i evgee & et w0 9 e Sfed avar 87

Options:
1) ALU

G594,

2) Cache Memory
ERIELICY

3) RAM

m

4) ROM

/T

Correct Answer: ROM
b

QID : 40 - Rusting is .

ST 3

Options:

1) Electrolysis
faege amges
2) Oxidation
afferiteneor

3) Redox reaction (Oxidation and Reduction)
Yeter arfifenan (sifasfiemor i soge)

4) Reduction

HIFTH

Correct Answer: Redox reaction (Oxidation and Reduction)

(T it soaes)

QID : 41 - Which amongst the following is not a Cation?

i@ & § @ a1 U v A8 87
Options:
1) Aluminium ion
ST

2) Copper ion
TR A=
3) Sulphate ion
Tehe I
4) Zinc ion

e a1

Correct Answer: Sulphate ion
Fehe AT

QID : 42 - Which of the following is not a component of Smog?

Prefef@s & o a1 us yr-aie? 1 ued T8l 87
Options:

1) Volatile organic compounds

Thadeie Sifas @i
2) Nitrogen Oxide
JeFEE

3) Sulphur dioxide
HoUR SR HIIES
4) Chlorine oxide
T SRS



Correct Answer: Chlorine oxide

QID : 43 - NITI Aayog has been formed to replace which of the following institution?

ifer amaiT & Frfor Feefafiaa 7 9 fom s & e o v mar €27

Options:
1) Planning Commission
T
2) IRDA
ad.am.ElL.
3) Department of Telecommunications (DoT)
oEEER A9
4) Department of Information Technology
T W
Correct Answer: Planning Commission
e AT

QID : 44 - Who invented first working laser?

Tgel! TH &E arel! crord ol s fhe femar ar?
Options:

1) A, H. Taylor

T, Q. &R

2) W. K. Roentgen

Eegl, Th. e

3) T. H. Maiman

& g A

4) Fred Morrission

Correct Answer: T. H. Maiman
&, we. A

QID : 45 - Which of the following venue hosted its first ever test match on 9th November, 2016 which was played between India and England?

Pr=fefae & @ frg figrm 3 ugelt ar 9 FawR, 2016 & 9RG 97 grets 2% &9 o Jate Rear ar?

Options:

1) JSCA International Stadium Complex, Ranchi

o1.uw gy, simidiy 2f2ay, 3F

2) Saurashtra Cricket Association Stadium, Rajkot

HRIE fehche waifigye efean, el

3) Himachal Pradesh Cricket Association Stadium, Dharamshala
ferahe o 2feam,

4) Holkar Cricket Stadium, Indore

Blveh fehahe A

Correct Answer: Saurashtra Cricket Association Stadium, Rajkot
wgifagys 2ftay, awele

QID : 46 -
Match the following.

AR & e ST

Artist | FATHI Artform | &=
1. Gauri Shankar Devilal a. Flute
it ermT e arad
2. Hari Prasad Chaurasia b. Painting
& v =i lEC
3. M.F. Hussain c. Kathak
4. Zakir Hussain d. Tabla
SRR g e
Options:

1) 1-a, 2-d, 3-b, 4c
2) 1-b, 2-¢, 3-3, 4d
3) 1-¢, 2-3, 3-b,4Ad

4) 1-c, 2-b, 3-a, 4d
Correct Answer: 1-c, 2-a, 3-b,4-d



QID : 47 - Wha is the only Indian cricketer to have received the Polly Umrigar award 3 times?

o qepmms wet fhdhe el &t i aw oielt sdvr qreer & wemfaa fvar mn &7
Options:

1) Sachin Tendulkar

i A

2) Virender Sehwag
AR wgam
3) Virat Kohli

farere atgeht

4) Ravichandran Ashwin
11zaaz=| iy

Correct Answer: Virat Kohli
arRTe wiget

QID : 48 - Who is the author of the book titled "The Sellout™?

' deramee AT g & e @i 67

Options:

1) Paul Beatty
i It

2) Arvind Adiga
arfdE e

3) Elenor Catton
rzg%rrﬂ? e

4) Howard Jacobson

Correct Answer: Paul Beatty
BIGEH]

QID : 49 - Which country was designated as the major defence partner of USA in December, 20167

fere & Y Rwwa, 2016 # wah wog A Re o Wl wE T gEdi aifte fevar aran ar?

Options:
1) Canada

ST

2) Israel

EGMED]

3) India

A

4) United Kingdom
Gyl

Correct Answer: India
e

QID : 50 - With which country India did its seventh edition of bilateral EKUVERIN Exercise 2016 at Kadhdhoo?

%A = T a1 % w2016 A sroen Taat R deawor ugafe srvare gy H e am
Options:

1) Nepal

AT

2) Pakistan

e

3) Maldives

Hrerdle

4) Bhutan
P

Correct Answer: Maldives

QID : 51-If X and Y are the two digits of the number 347XY such that the number is completely divisible by 80, then what is the value of X + Y?

afy X T Y Qe SE&T 347XY & 5 ok 39 W & o G 80 & gofa: RS g ot 8, St X + ¥ s Am e 22

Options:

1) 2

2)4

3)6

4)8

Correct Answer: 2



QID : 52 - A, B and C can complete a work in 20, 24 and 30 days respectively. All three of them starts together but after 4 days A leaves the job and B left the job 6
days before the work was completed. C completed the remaining work alone. In how many days was the total work completed?

A, B err C farnelt amef it snmar: 20, 24 o 30 Rt & uzr @ gard &1 T 2 Bierae o &t o R weeg 4 A & uaid A 3 ol ) ot Rar @ B A ol g 6 & 6 Re vedt &
ot T C 3 shw o srdhet g qof | et et ot Rt e 7 fRRert o o g

Options:

1) 10

2)12

3)14

4)16
Correct Answer: 14

QID : 53 - A solid sphere of diameter 17.5 cm is cut into two equal halves. What will be the increase (in cmz} in the total surface area?

17.5 §.1f), =g aTel Qe ol il T e sRreR Ani 5 arer ST 21 g e Sah 3 fhaet gl (3.2 ) ghfl?

Options:
1) 289
2) 361.5
3) 481.25
4) 962.5

Correct Answer: 481,25

QID : 54 - After a discount of 34% an article is sold for Rs 3168. What is the marked price (in Rs) of the article?

34% <l ¢ o F1E Ueh a% 1 3168 . 7 &1 oird &1 a&g @ e e (3. H) =0 @2

Options:
1) 4750

2) 4800
3) 4850

4) 5000
Correct Answer: 4800

QID :55-
i $P=1i’1o, then whiait is e 1o of Pard /O
respectively?

afg $P=%Q € a @AM P aU Q & Hegurd
FT &2

Options:

1)12:77

2)12:33

3)28:33

4)3:28
Correct Answer: 28 : 33

QID : 56 - The average of 17 results is 60. If the average of first 9 results is 57 and that of the last 9 results is 65, then what will be the value of 9th result?

17 uftumrst & aitae 60 &1 afe wuw 9 aftomst & ot 57 & au sife 9 uftumst &1 offa 65 &, at 9 & aRum &1 = @ gh?

Options:
1)39

2)78
3)117

4) 156
Correct Answer: 78

QID : 57 - For an article the profit is 170% of the cost price. If the cost price increases by 20% but the selling price remains same, then what is the new profit
percentage?

Ueh 9% & 59 g &1 170% 1 gia & | afe sy gea § 20% &t 3 gt & Fifeh faera gea wmm wgen €, & 3ar ans uide e 82



Options:

1) 41

2) 50

3)75

4) 125

Correct Answer: 125

QID : 58 - 32% of a number exceeds 17% of the same number by 120. What is the value of the number?

Terveft s a1 32% It T & 17% | 120 i &1 @ o w e 87

Options:
1) 900

2) 860
3) 940

4) 800
Correct Answer: 800

QID:59-

A boat goes 15 km upstream and 10% km downstream

in 3 hours 15 minutes. It goes 12 km upstream and 14
km downstream in 3 hours. What is the speed of the
boat in still water?

s ag 3 we 15 e # 15 R avr & ufage
aww%ﬁamwmwmtlwsﬁﬂ

12 fraf. g & ufdger gur 14 5 amr &
Hge St & R 5w & aw & afy Fw e

Options:
14

2)6
3)10

4)14
Correct Answer: 10

QID : 60 - A person lent certain sum of money at 5% per annum simple interest and in 15 years the interest amounted to Rs 250 less than the sum lent. What was the
sum |ent (in Rs)?

Ueh =af=r fndt T afdy &t 5% & anitfer g3 & Tremo saTel U IR a7 ¢ au1 15 961 & Gaiford sare & afdy ur € 1 af € 250 3. &1 SuR & 1 afE) (3. #) fraet o

Options:
1) 1000
2) 1500
3) 2400
4) 3000

Correct Answer: 1000

QID : 61 -
If x=@,then what is the value of x+1?
2443 X
2+J§ 1
x=5TX2 Al x+— & AT R &7
afE = = (3
Options:
1) 14
2)8v3
3)0

4)18



Correct Answer: 14

QID:62-

: 1
If x=2 Jé,then what is the value of v2x + —— 7
+ V2x

—9, i 1 ?
ofE x=2+/3, A V2x 7?_X.airznﬂa:m’(%.

Options:
1) 2v3

2)3v3
3) (3v3+1)/2

4)2v3+1
Correct Answer: (3v3 +1)/2

QID: 63-
R = 4, then what is the value of x° +iﬁ?
X X
::fe;x+)—1{z4,a’rx5+_1€$rmaw%?
'
Options:
1) 52
2) 256
3)1026
4) 2702
Correct Answer: 2702
QID : 64
If y=—2—_—x—. then what is the value o —1-*+2}2’+1?
1+ x y+1 y -1

i =X gy +232’+1a?rmzn:n%?
1+x y+1 y° -1

?;:tions:
(1+x)(2-x)

2x -1

2)

(1—x)(2+ x)
x -1

3

(1+x)(2-x)
1-2x

4)

(1+x)(1-2x)
2—-X

Correct Answer:

(1+x)(2-x)
1-2x



QID : 65 - In the triangle ABC, £BAC = 50" and the bisectors of 2ABC and £ACB meets at P. What is the value (in degrees) of 2BPC?

3T ABC #, £BAC = 50° auT £ABC U1 £ACB & fZreres g P o= e &1 «BPC 1 A= (Rft ) e gl

Options:
1) 100
2)105
3) 115
4)125

Correct Answer: 115

QID : 66 - Two circles of same radius intersect each other at P and Q. If the length of the common chord is 30 cm and distance between the centres of the two circles
is 40 cm, then what is the radius (in cm) of the circles?

o o aTe &) g U R P AU Q R TR e 81 aft 3t ot B aard 30 2Rt 2 e G g 3 b v B gt 40 @A, 2, it gt o P (370, ) et 22

Options:

1) 25

2) 25v2

3)50

4) 50v2

Correct Answer: 25

QID:67-
In the given figure, ZQRN =40°, Z.PQR = 46° and
MN is a tangent at R. What is the value (in degrees)
of x, y and z respectively?

& 71 ampfa #, ZQRN =40°, Z/PQR = 46° T
MN g R 0T Ta Fadf ¥aT ¥1 A X, y AU 2
&1 A (el &) Far &2

Options:
1) 40, 46,94

2) 40, 50, 90
3) 46, 54, 80

4) 50,40, 90
Correct Answer: 40, 46, 24

QID : 68 - In APQR, £R = 547, the perpendicular bisector of PQ at S meets QR at T. If zTPR = 46°, then what is the value (in degrees) of .PQR?

APQR 7, 4R = 54°, fiig S 9 PQ &1 TAfgwTis 779 QR 4 g T o7 AeaT §1 9f& «TPR = 46° 8, @ «PQR & 7 (2 #) 77 gm?
Options:

1) 25

2) 40

3) 50

4) 60

Correct Answer: 40



QID : 69 -
cotA~tanB

hatis the simplif " cotB-tanA
What is the simplified value o cotB+tan A

cotA+tanB
b tltell bl coraalieet m e
t:otB+temAEFT e = ¥

Options:
1)tan B cot A

2)tan AcotB
3)tan Atan B

4) cot Acot B
Correct Answer: tan B cot A

QID:70-

2
What is the simplified value of — S ?
cosec A+cot A

cosec A+cot A

[+T F BIG A HT £?

Options:
1)secA+tan A

2) (1 - cos A)/(1 +cos A)
3) (1 - cosec A)/(1 + cosec A}

4) sin A
Correct Answer: (1 — cos A)/(1 + cos A)

QID : 71 - If cos? @ ~ sin 8 = %, then what is the value of sin 87

afz cos @ — sin 8 = %, d sin B &1 9T F1 gT?

Options:

1) -1

2)1/2

1

4)3/2

Correct Answer: 1/2

QiD:72-

mon
What is the percentage increase in number of students of Commerce from 2012 to 20167

2012 9 2016 T aforey 3 o &1 @ 7 e nfa fr g g &7
Options:

1) 11.16
2)17.28
3)13.51

4) 15.67
Correct Answer: 13.51

QD :73-
P
What is the simple annual growth rate (in %) of the number of students of Business from 2012 to 20167

2012 & 2016 6 TG & B Y HEr B arfiie T gl & (% F) et 82

Options:

1)10

2)12.5

3)15

4)17.5

Correct Answer: 12.5



QID:74-
.

What is the ratio of average number of students studying Arts per year and average number of students studying Science per year?

el T dlet @TAT chi ST ohi alfteh S du1 [R5 U= aiel @1 bl S@ <l aiftia Sied 1 ST T 87?

Options:
1)169:331

2) 66 :169
3) 127: 261

4)32:75
Correct Answer: 169 : 331

QID:75-
o

Which year shows the maximum percentage increase in the total number of students in these 4 subjects over the previous year?

& 4 Rl & et o < i & v e & e e & et o v 97 g6 7

Options:
1) 2013

2) 2014
3) 2015
4) 2016

Correct Answer: 2015

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

The two men were (1)/ quarrelling with one another (2)/ claiming the same watch as their own. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Everybody knows (1)/ that Bhutan is the most peaceful (2)/ of all other countries of the world. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The higher you climb, the more difficult it to breathe.
Options:

1) became

2) becomes

3) has become

4) is becoming

Correct Answer: becomes

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Neha has been crying
Options:

1) from

2) of

3) since

4) 1ill

Correct Answer: since

moming.

QID : 80 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Opulent



Options:

1) Fake

2) Gloomy

3) Rich

4) Selfish

Correct Answer: Rich

QID : 81 - In the following question, out of the four alternatives, select the word similar in meaning ta the word given.

Morose

Options:

1) Flatter

2) Gloomy

3) friendly

4) Savvy

Correct Answer: Gloomy

QID : 82 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Irk

Options:

1) Attract

2) Discourage
3) Irritate

4) Please

Correct Answer: Please

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Grotesque

Options:

1) Free

2) Odd

3) Plain

4) Queer

Correct Answer: Plain

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To keep the wolf from the door
Options:

1) Avoid starvation

2) Crack the deal

3) Entry prohibited

4) Have a pleasant tour

Correct Answer: Avoid starvation

QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Teething problems

Options:

1) Oral problems

2) Problems at the start of a new project

3) Problems for quite a long time in adjusting in the new place
4) Problem of having good dentist

Correct Answer: Problems at the start of a new project

QID : 86 - Improve the bracketed part of the sentence.

She did not like to have coffee (nor I did).

Options:

1) neither | liked it
2) nor did |

3) nor | like it

4) No improvement
Correct Answer: nor did |

QID : 87 - Improve the bracketed part of the sentence.

Taj Mahal is ( a worth seeing monument) in Agra.
Options:

1) a monument to see its worth

2) a monument worth seeing

3) one of worth seeing monuments

4) No improvement

Correct Answer: a monument worth seeing



QID : 88 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

That which cannot be corrected
Options:

1) Impregnable

2) Immolation

3) Incorrigible

4) Ineligible

Correct Answer: Incorrigible

QID : 89 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase,

A person who is blamed for the wrong doings of others
Options:

1) Bursar

2) Captor

3) Phlegmatic

4) Scapegoat

Correct Answer: Scapegoat

QID : 90 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Conceive

2) Leisure

3) Neice

4) Reign

Correct Answer: Neice

QID : 91 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.

Options:

1) Dictionory

2) Irrelevant

3) Perishable

4) Tangible

Correct Answer: Dictionory

QID : 92 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P- It had been umpteen years since we had seen each other.

Q- One dull dark day in autumn, | was travelling on horseback through a dreary stretch of countryside.
R- This was the house of Roderick Usher, who had been my childhood pal.

S- At night fall, | came in sight of the house of Usher.

Options:

1) PQSR

2) PSQR

3) QSRP

4) QRSP

Correct Answer: QSRP

QID : 93 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P- According to various estimates, between 1942 and 1944 there were approximately 400 victims of this practice daily in Warsaw alone, with numbers on some days
reaching several thousands.

Q- A common German practice in occupied Poland was to round up random civilians on the streets of Polish cities.

R- For example, on 19th September 1942 close to 3000 men and women were transported by train to Germany — they had been caught in the massive round-ups all
over Warsaw the previous two days.

§- The term, “lapanka’ carried a sardonic connotation from the word's earlier use for the children's game known in English as "tag”.

Options:

1) SQRP

2) SRPQ

3) QSPR

4) QPRS

Correct Answer: QSPR

QID : 94 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

An elephant may be helped even by an ant.
Options:

1) An ant can even help a elephant.

2) An ant may even help a elephant.

3) Even an ant may help an elephant.

4) Even an ant ought to help an elephant.

Correct Answer: Even an ant may help an elephant.



QID : 95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Direct/Indirect speech.

"Please don't cry" he said.

Options:

1) He begged that | should not cry.
2) He begged me not to cry.

3) He said to please him and not cry.
4) He told me to not to cry.

Correct Answer: He begged me not to cry.

QID : 96 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The of lectures could be enhanced by introducing the lecture with a brief review of the work . it should also be indicated how the day's lecture into the
course pattern. A lecture should be presented in one unbroken discourse. Unless exceptionally interesting, a long lecture strains the of a concentrated
listening, causing intermittent wandering of attention and loss of continuity in thought.

The ____ of lectures could be enhanced by introducing the lecture
Options:

1) condition

2) effectiveness

3) efficiency

4) interest

Correct Answer: effectiveness

QID : 97 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The of lectures could be enhanced by introducing the lecture with a brief review of the work it should also be indicated how the day's lecture into the
course pattern. A lecture should be presented in one unbroken discourse. Unless exceptionally Interesting, a long lecture strains the of a concentrated
listening, causing intermittent wandering of attention and loss of continuity in thought.

with a brief review of the work it should also be indicated
Options:

1) ascending

2) preceding

3) reciting

4) succeeding

Correct Answer: preceding

QID : 98 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The of lectures could be enhanced by introducing the lecture with a brief review of the work . it should also be indicated how the day's lecture into the
course pattern. A lecture should be presented in one unbroken discourse. Unless exceptionally interesting, a long lecture strains the of a concentrated
listening, causing intermittent wandering of attention and loss of continuity in thought.

how the day's lecture ____ into the course pattern.

Options:
1) adds
2) fits

3) gets
4) lets

Correct Answer: fits

QID : 99 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The of lectures could be enhanced by introducing the lecture with a brief review of the work it should also be indicated how the day's lecture into the
course pattern. A lecture should ____ be presented in one unbroken discourse. Unless exceptionally interesting, a long lecture strains the ____ of a concentrated
listening, causing intermittent wandering of attention and loss of continuity in thought.

A lecture should ____ be presented in one unbroken discourse.
Options:

1) continuously

2) often

3) randomly

4) seldom

Correct Answer: seldom

QID : 100 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

The of lectures could be enhanced by introducing the lecture with a brief review of the work it should also be indicated how the day's lecture into the
course pattern. A lecture should ____ be presented in one unbroken discourse. Unless exceptionally interesting, a long lecture strains the of a concentrated
listening, causing intermittent wandering of attention and loss of continuity in thought.

a long lecture strains the of a concentrated listening, causing intermittent wandering of attention and loss of continuity in thought.




Options:

1) authority

2) capacity

3) comfortability
4) reasonability

Correct Answer: capacity



